R OB RE R R 2 F — (2024)

& & #1120
25R

E4
ZROOH(FR)

A=l
2023406 B30H
13854145

A& Hm22
EXF

B2
=k SH (REA)

A=l
2023407H21H
03EF57%

A& H23
BiR

E4
ZHRTH(FR)

A=
20234%10818H
108514

EEEG3 jesahi==/H>TH(16/45)



R OB RE R R 2 F — (2024)

i & 24
=R

E4
ZROOH(FR)

A=l
2023406 816 H
1485225

S 26
EiR

B2
=k SH (REA)

mE B
2023%10A27H
218534453

A& Hh28
&P

E4
ZHRTH(FR)

A=
20234098 30H
058414y

EEEf Jeeashi==/HR2Th(17/45)



R AR R IR 2 v & — (2024)

ARE 30
TR

E4
ZROOH(FR)

A=l
20234108018
12854245

A& H31
Al (FAEELL)

B4
ZROOH(FR)

A=l
202345058 23H
1483145

A& H31
Al (FEAEELL)

E4
ZHRTH(FR)

A=
20234108108
2085014y

EEEG jerashi==/Hr>2TH(18/45)



R OB RE R R 2 F — (2024)

A Hh31
Fl& (FEEELL)

E4
=R H(FR)

A=l
20234108208
078:53%

A& H32
Al (RAELL)

B4
=R OH (FR)

A=l
20234058 18H
078:33%

A& H32
Bl (RAELL)

E4
=R OH(FR)

e HEF
20234058 19H
1685105

BEEEG6 mpasanf-=/hrTHh(19/45)



R OB RE R R 2 F — (2024)

FE M 32
Al (REELL)

E4
ZROOH(FR)

A=l
2023406 B08H
2285075

S Hh32
Al (RAELL)

B4
ZROOH(FR)

mE B
2023%07H 140
1285489

A& H32
Bl (RAELL)

E4
ZHRTH(FR)

A=
20234078 25H
17853049

BEE67 medhi==HR2UhH(20/45)



R AR R IR 2 v & — (2024)

FE M 32
Al (REELL)

E4
ZROOH(FR)

A=l
20234098158
1885324

S Hh32
Al (RAELL)

B4
—ROH (A R)

mE B
2023410H03A8
0285274)

A Hh32
Bl (RAELL)

E4
ZHRTH(FR)

A=
2023%108508H
065035

EEEGFS jpesahi==/hr>TH(21/45)



R OB RE R R 2 F — (2024)

FE M 32
Al (REELL)

E4
ZROOH(FR)

A=l
20234F11816H
2285175

FEE 33
EEN

B4
ZROOH(FR)

mE B
2023406 506 0
0785435

A& H33
EEN

E4
ZHRTH(FR)

A=
2023406 507H
018084

EEEG jeeashi==/hr2THh(22/45)



R AR AR R Rk v & —  (2024)

SFZE #h33
=3

E4
=R H(FEHA)

A=l
2023406 8178
1885394

FEE 33
EEN

B4
—ROH (A R)

A=l
2023506 817H
188394

& 33
EEN

E4
=R DH (FR2EE)

A=
2023068 19H
0285445

BEEET0 Jgeanf==HrrTh(23/45)



R OB RE R R 2 F — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

A=l
2023406 8198
05B%55%)

FEE 33
EEN

B4
=R H ()

A=l
20234506 H30H
03EF30%

A& H33
EEN

E4
ZHRTH(FR)

A=
20234078108
1985425

EEE7 JEshi==/HR2Th(24/45)



R OB RE R R 2 F — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

A=l
20234078128
03RF424>

FEE 33
EEN

B4
ZROOH(FR)

I HE
2023407H24H
2085094

A& H33
EEN

E4
ZHRTH(FR)

A=
2023408 H504H
2082445

BEEE? JgEShi==/HR2TH(25/45)



R AR R IR 2 v & — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

A=l
20234F08 506 H
2185099

FEE 33
EEN

B4
ZROOH(FR)

A=l
2023508 H07H
0285504y

& 33
EEN

E4
ZHRTH(FR)

A=
20234088 12H
2285319




R OB RE R R 2 F — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

mE B
2023£08F 158
0785055

FEE 33
EEN

B4
ZROOH(FR)

mE B
2023408 F 228
0485015

A& H33
EEN

E4
ZHRTH(FR)

e HEF
2023508 H27H
00539

BEEE74 JgEIhi==/HR2TH(27/45)



R OB RE R R 2 F — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

A=l
2023409 808H
2305139

FEE 33
EEN

B4
ZROOH(FR)

I HE
2023409H10H
2085084

& 33
EEN

E4
ZHRTH(FR)

mE B
2023409/ 128
04BF1457

BEEE? JEashi-=/HR2Th(28/45)



R AR R IR 2 v & — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

mE B
2023£09H 158
1785409

FEE 33
EEN

B4
—ROH (A R)

mE B
2023409F 158
1765405

& 33
EEN

E4
ZHRTH(FR)

A=
20234098 15H
2285245

EEET6 meeashi==/HR22h(29/45)



R AR R IR 2 v & — (2024)

SFZE #h33
=3

E4
ZROOH(FR)

A=l
20234098178
1085125

FEE 33
EEN

B4
—ROH (A R)

mE B
2023409F 178
21850253

& 33
EEN

E4
ZHRTH(FR)

A=
20234098 18H
1785384

BEEE7T mEIhi==/HR>25(30/45)



